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Answér Question Nlo.' 1 and aﬁy six from the rest.
1.  Answer the fdlleing queét_ions—f (1x10=10)
(@) Define the term Algorithm. .
(11) Why we need data strﬁcture?
(i11) What is the condition of stack_overﬂ‘ow? _
(iv) What is the éipreSsion tree? -

(v) The number of edges from the node to the
deepest leaf is called —— of the tree.
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(v1) What Whlch structure is known FIFO and W'

‘(vn) The Q2 wnotation. in - asymptotic evalua}

repl esents

L
(viil) What-is the next fleld of structure node in £

Link 11st"

The height of a BST 18 given as h. Considef

(ix) _:?i‘ﬁ W&'lte the algomthm for qu,eue
helght of the tree as the mno. of edges in th - deletion using array. .
longest path Beor 2ot o the leaf. The maximum no. What are the twes Of qu,eue”
of nodes possﬂole in the tree is : E V‘ What is the advantage of ©
_ 9 '
(x) The no of external nodes in a full bmary tx‘é k I11near e Vi
 with n internal no dow s (d) Draw the queue structure in each case of hnear £
h queue size 6 e o
0 3
2. (@) What are charactenstms of good algomthm'? b @y Add A B, C D, E and F | : 1
A 3+3+6+8) i L
(b) What do you mean by time space trade off? ¥ - (i) Delete two letters e iy 8 S
| i) Add G L i
(¢) Write the Algorithm for sum of 7 numbers anf s : L
01 O e SR ¥ : S |
N ﬁnd_s its complexity in terms of Big Oh. ' (v) ‘Add H , b T e
‘ el bt 1 ke qi {14 (v) Delete four letters F ’
(d) Prove that f(n) =n?+2n= O (0 ) , ; . | : e
; : 4 (vi) AddI i il )
el qiﬂ?% QoRiny. stack, after. performmg push . (@) Deﬁne the followmg term with dlagram 0 N ¢ _
(1) -puk (ii) Pop, push (iii) push (iv) Pop, Pop, C (6+6+ 3) e
push (v) pop. what is the value of the top of the ¥ _ e i
stack? Draw the dlagram ) FOTeSt ; hAR
2 o (i) BST . i S
| _ (i) Expressmn Tree- W _
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Wha;ﬁ' is. the value of the postfix expression?

bl = at+b*cld (where o = 8, b :,4’ ¢ =2 and

= 8)

lam about Tower of Hanoi.




1 -:‘ i : At
(b) Fmd the -Prébrder, -;P.Oét 01‘def and In c
_the following tree.

il i ; ‘ ; '
- Iixplain the logic of binary search with an
Eexample. - A+ Brdrd)

efine the ad]acency matmx for the followmg .

(©)

Consuder the followmg element'
' the AVL. '

’8312107921

l construct

6. ‘(a) What do you mean by Max I—Ieap a f,"
(b) Construct 2 BST from the following el(-m,:LJ

9,9,4,1,11,9,8, 7,24, 51

(c) - Find the MST usmg Kruskal’s o
i ..Algomthm (Step by Step)

Explain the BFS algorlthm for the followmg
W Aople. L el (8+4+3)

Explain about 4 queen piobiein’.

Explain about B tree with an é..Xam_ple.
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(a)

o)

o)
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~sort. ; . ]

ol [ . £ o
.13 2’ ..3: _8: ’3’ 12910’ 7.5 9_: 2: 1 ) L / .

Construc_t' max heap for the following el

1,2,8,7,8,6,4, 12,41, 76, 31.

Write the algorithm for bubble sort. (5 + 0 4

Sort the following list of element using me




